. Resolve as adicOes e escreve o resultado pelo seu valor posicional.
15+3= 25+1= 36+3= 40+6=
DU DU DU DU
115 2|5 316 410
+ 3 + 1 + 3 + 6
= dezena = dezenas
) - = dezenas = dezenas
e unidades. e unidades. ) )
— — e unidades. e unidades.
24+ 3= 22+11= 20+14= 30+15=
D|U D|U D|U D|U
214 2|2 210 3|0
+ 3 + 11 + 1(4 + 1/ 5
= dezena = dezenas _ _
) - = dezenas = dezenas
e unidades. e unidades. ) )
— — e unidades. e unidades.
22+13= 31+12= 39+10= 4047=
DU DU DU DU
+ + + +
= dezena = dezenas 3 B
) - = dezenas = dezenas
e unidades. e unidades. ) )
— — e unidades. e unidades.




